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QUESTION 1

Which three are true about multiple INSERT statements?

A. They can be performed only by using a subquery.

B. They can be performed on relational tables.

C. They can be performed on views.

D. They can be performed on remote tables.

E. They can be performed on external tables using SQL*Loader.
F. They can insert each computed row into more than one table.

Correct Answer: ABF

QUESTION 2

Sales data of a company is stored in two tables, SALES1 and SALES2, with some data being duplicated across the
tables. You want to display the results from the SALES1 table, Which are not present in the SALES2 table.

SALES1 table

Name Null Type
SALES_ ID NUMBER
STORE_ID NUMBER
ITEMS ID NUMBER
QUANTITY NUMBER
SALES_DATE DATE

SALES2 table

Name Null Type
SALES ID NUMBER
STORE ID NUMBER
ITEMS ID NUMBER
QUANTITY NUMBER
SALES DATE DATE
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Which set operator generates the required output?
A. INTERSECT

B. UNION

C. PLUS

D. MINUS

E. SUBTRACT

Correct Answer: D

References: https://docs.oracle.com/cd/B19306_01/server.102/b14200/queries004.htm

QUESTION 3

No-user-defined locks are used in your database.

Which three are true about Transaction Control Language (TCL)?

A. COMMIT erases all the transaction\\'s savepoints and releases its locks.

B. COMMIT ends the transaction and makes all its changes permanent.

C. ROLLBACK without the TO SAVEPOINT clause undoes all the transaction\\'s changes but does not release its locks.

D. ROLLBACK to SAVEPOTNT undoes the transaction\\'s changes made since the named savepoint and then ends the
transaction.

E. ROLLBACK without the TO SAVEPOINT clause undoes alt the transaction\\'s changes, releases its locks, and
erases all its savepoints.

F. ROLLBACK without the TO SAVEPOINT clause undoes all the transaction\\'s changes but does not erase its
savepoints.

Correct Answer:. ABE

QUESTION 4

Examine the description of the CUSTONERS table:

Name Null? Type

CUSTNO NOT NULL NUMBER(3)
CUSTNAME NOT NULL VARCHARZ2 (25)
CUSTADDRESS VARCHAR?2 (35)
CUST_CREDIT_LIMIT NUMBER(5)
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CUSTNO is the PRIMARY KEY.

You must determine if any customers\\' details have been entered more than once using a different CUSTNO, by listing
all duplicate names.

Which two methods can you use to get the required result?
A. LEFT OUTER JOIN with self join

B. PULL OUTER JOIN with self join

C. subquery

D. RIGHT OUTER JOIN with self join

E. self Join

Correct Answer: CE

QUESTION 5

Which three statements are true about built-in data types?

A. A VARCHAR?2 blank-pads column values only if the data stored is hon-numeric and contains no special characters.
B. The default length for a CHAR column is always one character.

C. A VARCHARZ2 column definition does not require the length to be specified.

D. A BLOB stores unstructured binary data within the database.

E. A CHAR column definition does not require the length to be specified.

F. A BFILE stores unstructured binary data in operating system files.

Correct Answer:. BDF
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